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L 7 .000 75% | :A:11.600
L 7 .000 75% | :A:11.200
L 7 .400 11.000. £:10.100
| JL650 | 7 .600 11,000 _
| JL652 |7 .600 200,
L654 | 7! .600
AR FFR-WE Wa%k [ J290i |7 000
| JL2903 | 7 .000 66% |*E:
| JL2905 | 7 .400 67% |&:
| JL2907 | 7 .300 TES
JL2909 | 7! 10.900 66% |&:
#L0% (37 Fm%) $§_JL2900 | 7 10.500 67% |*E:
| JL2902 | 7 10.100 68%
| JL2904 | 7 .800 2%
| JL2906 | 7 11.300 65%
JL2910 | 7! 11.300 65%

JAL



LSRG IEER(1A17~31BEESD)

EEEAR : 2016/09/16

E 1/17-31
=40} B4 | mam 2UESEF
® | mmm | B0
" | mzix
TR IE-EE | RRRER | J 760 | 75% [Z11.000 176007
300 | 74% 212,700, +:12.400,
.000 | 75% :13.800, £:11.400,
.000 | 75% :13.800, £:11.400,
000 | _75% |#:11.200, B:11.700
.000 | 75% 211,200, H:11.700
RE% 000 | _75%
.700 75% 1+ H:11.000
9400 | 78%
000 | _75%
000 | _75%
000 | _75%
TR B RR | B CHED % L 500 600
.000 :9.100
.000 211,700, H:10.200
7 .000 7 800, H:10.600
7 .000 7 800, H:10.600
7 .000 7 :12.000
7 .400 75 :10.800, 1:9.600, H:11,000
7 .000 7 .200, %:11.800. H 800
BEARS 7 .000 7 X:12,000, *:12.300
7 .100 7 000, £:11.600., £:13.800. H:12.200
7 .600 7 1+:10.100, H:10.000
7 .100 8% 1+:10.100, H:10.300
7 .100 8% 1+ H:10.600
7 10.300 75% 211,100, H:11.000
7 .600 77 211,100, H:11.000
Lf 7 .600 77 100, H:11.000
TR BB | RERER | _JL687 |7 11.000 [ 7 200
7 11.000 7 .200
7 11.200 7 300, 1:11.800, H:11.000
7 8.800 79 800, +
7 .000 7 11.800.
7 .200 7 2k £:11,000, 00, 00
= I 7 .200 7 k:12.200, 7K B:11.000, %:11.800, +:12.800
7 .000 7 £:11.200, +:11.800
7 .500 7
7 .000 73 HA#£:11.200, H:12.800
7 .000 #:11.800, H:12.800
7 .000 #:12.500, H:12.700
FRE) BERE | AR(RER 7 500 £:11200
7 .000 .200
7 .000 .200
7 .000 400, £:11.000. H:10.700
1 .600
7 9.600
7 .800
7 .500
BREE | J6d0 |7 600
Lf 7 .400
Lf 7 .000
Lf 7 .000
Lf 7 .400 .000, £:10.100
| JL650 | 7 .600 .000
| JL652 |7 .600 ,000
L654 | 7 .600 .000
AR EF TR =LE P | JL2901 | 7 .000 66% | +:10.800. H:10.700
| JL2903 | 7 .000 66% |1:10.800. H:10.700
| JL2905 | 7 .400 67% |&:
| JL2907 | 7 .300 TES
JL2909 | 7! 10.900 66% |&:
#L0% (37 Fm%) $§_JL2900 | 7 10.500 67% |+
| JL2902 | 7 10.100 68% HAR
| JL2904 | 7 .800 12% :10.400.
| JL2906 | 7 11.300 65% :13.200, 1:10.800,
JL2910 | 7! 11.300 65% :13.200, 1:10.800,




LSRG IERER(2A1~5BERD)

EEEAR : 2016/09/16

2/1-5
FH =x7=
=R B4 | mam IIRSEE
BB ERE %5
HR(CRE)=X% RERCPE) % .500 .600. 00
.700 900, 00,
.700 400, .000
.000 .700, .900
.000 400, .800
.000 400, 800
KnF .600 100
.000 100
.000 11,600,
.000 11.600.
.400 400,
.400 700, £:12.
FRCRE) =R RRCPE)F | JL .100 .300, H:10,
.200 :13.700.
.000 75% :11.500, F:12.!
7 .000 75% :11.500, +:12.900
7 .000 75% 112,200, H:12.700
7 .000 75% :12.200, H:13.700
RIGH 7 .000 75% :11.200, £:12.200
7 .000 75% £:11.200
7 .000 75% :11.200, H:12,000
7 .600 73% :12.200, +:12.000,
7 .600 73% :12.200, +:12.000,
7 .600 76% :12.200, +:11.000,
FR(CRE) =215 FERCRE)F | JL 7 -000 7 -900
7 .000 7 1:11.900
7 .700 7 700, £:12.500. H:11.300
7 .500 1 :10.900
7 300 7. :11.900, H:1
7 300 7. 400,
= 7 .000 7 A:11.200. &
7 .300 7. <#:11.900, 1
7 .500 1
7 .000 73 <:11.700, 1:11.300, H:12.800
7 .000 73% |£:11.900, H:12.800
7 100 72% |$:12,500, £:11.000, B:13.500
RER(AEB)=ERS RERCRE) % 7 .500 76% [1:11.200
7 .000 72% |4 .000, £:13.200
7 .200 72% |% 13.500. H:12.000
7 .000 75% |7KK:10.700
7 .000 75%
7 .600 76% |%:13.800, +:11.000, H:11.800
7 .800 75% |:11.500, £:10.700, B:11.900
7 .000 75% |:11.500, H:11.900
BEREH L 7 .000 E 500
L 7 .000 500
L 7 .000 .200, £:11.500
L 7 .000 .
L 7 .000 11.200
| JL650 | 7 .000 12.200
[oLes2 |7 000 :
L654 | 7! .000
IR EFFR)=LE i&ds [ JL2001 [ 7 .800 66% |7t
| JL2903 | 7 .800 66% |7
| JL2905 | 7 .000 66% |4
| JL2907 | 7 .100 65% |4
JL2909 | 7! .300 68% |7
#L0% (%) $4_JL2900 | 7 .900 66% |&
| JL2902 | 7 .900 66% |7
| JL2904 | 7 .600 67% |&:12.
| JL2906 | 7 .800 66% | ZKAR:11.300.
JL2910 | 7! .800 66% | 7KAR:11.300.




LSRG IEER (2A13~28BEFE)

EEEAR 2016/09/16
2/13-28
F =5
X B2 | mam ISR
2] ERE
RRCAB) =K% R (FE) 500 600,
.700 900,
.700 .900,
.000 .700,
.000 400,
.000 400,
KnF .600 .100
.000 .100
.000 .200,
.000 .200,
.400 400,
.400 700,
RRCRB) =R R (FE) | JL .100 300,
200 700,
.000 .200.
7 .000 .200.
7 .000 200,
7 .000 :12.200.
RIBGFE 7 .000 75% | :K:13.800.
7 .000 75% | :K:13.800. .
7 .000 75% |:11.200, 2,000
7 .600 73% | A% +:13.800, H:14.200
7 .600 73% | A% +:13.800. H:14.200
7 .600 76% | A:11.100, £:13.900, £:11.000. H:13.200
RRCRB) =25 FR (FE) [ JL 7 .000 7 £:11.900
7 .000 7. .900
7 .700 7 #:12.700, 1:12,500, H:11.300
7 .500 7: <:10.900
7 .300 7. .800. £:11.900. H:12.800
7 .300 7. :13.400, B 00
= 7 .200 7. 7 11,000, £
7 .300 7. :11.900, *:
7 .500 7:
7 .000 73 .200. £:11.700. +:11.300. H:12.800
7 .000 73% .900. H:12.800
7 .700 72% .500, £:11.000, B:13.500
RER(AEB)=ERS RERCRE) % 7 .500 76% .200
7 .000 72% .000, £:13.200
7 .200 72% 13.500. H:12.000
7 .700 75% H:11.000
7 .000 75%
7 .600 76% |%:11.200, +:11.000, H:11.800
7 .800 75% |:11.500, £:10.700, B:11.900
7 .000 75% |:11.500, H:11.900
BEREH L 7 .000 £:11.500
L 7 .000 .500
L 7 .000 .000. £:11.200. +:11.500
L 7 .000 .200
L 7 .000 11.200
| JL650 | 7 .000 72% 12.200
| JL652 |7 .000 72% :12.200. H:13.200
L654 | 7 .000 75% :11.200
FLIR (BT =lE wes | JL2901 | 7 .400 64% :11.200, +:10.800,
| JL2903 | 7 .400 64% 1.200. 1:10.800.
| JL2905 | 7 .000 66% +:11.700, 00
| JL2907 | 7 .100 65% 112,700, +:11.200,
JL2909 | 7 .900 66% :13.700, +:10.300,
#L0% (%) $4_JL2900 | 7 .900 66%
| JL2902 | 7 .100 65%
| JL2904 | 7 .600 67% .
| JL2906 | 7 .300 65% 200, £:10.800.
JL2910 | 7 .300 65% ,200, £:10.800.

JAL



EEEAR

2016/09/16

TNSEFIERER(AT~IBERD)

=40]

FH
BAH

1/7
DILESER

1/8
DILESER

1/9
DILESER

ERE

R CRE)=Ki&

RROPE)FE | J

.700

.400

.400

.400

.000

.000

R

.300

.300

.000

.000

.000

.000

R CRE)=#EX

RRERCPE) R | JU

700

.200

.700

.700

.700

.300

9.600

1.000

AR

7.600

.600

.100

.100

.600

.300

.600

600

R CRE) =58

TR R [ L

.300

.300

.800

.500

.000

.000

.600

.300

.800

.800

.200

.000

AR R TR =lE

.700

.700

.200

.700

.300

FLIR (B %) 5

.900

.300

.400

.900

] Y Y )Y Y Y Y Y Y Y Y Y Y Y )Y Y S Y Y Y)Y Y ) ) Y ) Y ) Y )

.900

JAL



ML RFIEER (A6~ 12BEES)

EEEAR : 2016/09/16

F 2/6 2/1 2/8 2/9 2/10 2/11 2/12
=40} B2 | mAm [ZLESEBIDNESRE|VIESEB [ DNESRE]VIESEE [ DNESRE] VILESES

.500 .500 .500
.700 .900 | 13.000
.700 .700 .700
.000 .000 .700
.000 .400
.000 .400
.600 .600
.000 .000
.000 .600
.000 .600
.400 .400
.400 700

R CRE) =K% R CRE) %

EY

.100 .100
.200 700
.200 .500
.200 .500
.000 .700
.000 .700
.000 .200
.000 .200
.000 .200
.600 200
.600
.600

R CRE)=Ri& RRCRE) | JL

R

.000
.000
.700
.500
.800
.300
.200
.300
.500
.200
.000
.700

R CRE) =58 R CRE) | JL

.500
.000
.200
.700
.000
.600
.800
.000
.000
.000
.000
.000
.000
.000
.000
.000

RR(PE)-ERS R CRE) #

ERBR L

L2901
L2903
L2905
L2907
L2909
L2900
L2902
L2904
L2906
L2910

.300
.300
.000
.400
.900
.000
.100
.600
.600
.600

AR GRFR)=lE was

FLIR (B %) 5

] Y Y Y Y Y Y Y Y Y Y Y Y ) Y )Y )Y Y Y Y Y Y Y Y ) Y Y)Y Y Y)Y ] ) Y Y ) ) Y ) ) Y Y




TSR FIERERCAI~IBERD)

EEBEAB 2016/09/16
S 3/1-9
=R B4 | mam INESRT
BR B &
HR(CRE)=X% RERCPE) % .500 800
700 300, £:13.700, B:12.000
700 E: 0
000 3
000 | 72% | 74% |4
000 | 72% | 74% |4
A% 800 | 73% | 75%
000 | 72% | 74%
000 | 72% | 74% [k
000 | 72% | 74% [k
700 |_66% | 68% |4
700 | _66% | 68%
FRCRE) =R RRCPE)F | JL .700 73% 75%
100 |_70% | 72%
000 | 75% | 76%
7 000 | 75% | 76%
7 000 | _75% | 76%
7 000 | 75% | 76% [A:
BB 7 000 |_75% | 76% |4
7 000 |_75% | 76% |4 )
7 000 | 75% | 76% |%:11.900. £:11.700. H:12.000
7 000 | 70% | 72% | #:14.400. %:13.900. £:12.300. H:15.200
7 000 | 70% | 72% [d
7 000 | 72% | 74% [k
FR(CRE) =215 FERCRE)F | JL 7 .400 7 7 t
7 400 | 7 7
7 700 | 7 73
7 500 | 7 76%
7 700 | 7 73%
7 900 | 7 73%
EIE] 7 600 | 7 73%
7 700 | 7 73%
7 500 | 7 76%
7 000 |73 75% 200 2:11.900. £:11.700. B:13.400
7 000 | 73% | 75% 900, =+:11.300, H:13.400
7 700 | _72% | 73% 500, +:11,000, H:13,500
RER(AEB)=ERS RECPHE) % 7 .500 76% 17% .800
7 000 | 72% | 74% 4100
7 800 | 71% | 72% 3:12.000
7 000 | _75% | 76% :13.000. B1:11.200
7 000 | 75% | 76% 1.200
7 000 | _75% | 76%
7 000 | 75% | 76%
7 000 | _75% | 76% -
BRBR L 7 000 | 75% | 76% 800
L 7 000 | _75% | 76% 000 :12.800
L 7 000 | 75% | 76% 800, 2 £:11.700
L 7 000 | 75% | 76% 700
L 7 900 | 73% | 74%
[JLe50 [ 7 400 | 72% | 73%
[JLe52 |7 400 | 72% | 73%
L654 | 7 400 |_74% | 75%
IR EFFR)=LE e | JL2%0i | 7 -400 64% 67%
[JC2003 [ 7 400 | 64% | 67%
["JC2005 [ 7 000 | 66% | 68%
["JL2007 [ 7 000 | 66% | 68%
JL2909 | 7 .00 | 66% | 68% [#:13.700. +:10.300, B
FLIR (5 F %) 3_JL2900 | 7 .00 | 66% | 68% 10.700. £:10.300
["Jc2002 [ 7 200 | 65% | 67% |4
[JC2004 [ 7 500 | 67% | 69% |3
["JC2006 | 7 300 | 65% | 67% |4
JL2910 | 7 300 | 65% | 67% |4

JAL



TS5 RBEERGBAI0~16BEES)

EEEME . 2016/09/16
3/10-16
4 016
=40} B4 | mam — 2UESEF
® | &mm |50
" | mzix
FRGIB XS | AR ER 500 | 71k 500,
700 70% 200,
100 2% 900,
.000 4% 700,
.000 4%
000 | _74%
KA%E 800 | 75%
.000 4%
.000 4%
.000 4%
700 68%
700 68%
TR B BB | BR CHE R [l 700 | 75%
.100 12%
.000 76%
7 .000 76%
7 .000 76%
7 .000 76%
RIGS 7 .000 76%
7 .000 76%
7 .000 76%
7 .000 1
7 .000 7
7 .000 7
TR BB | RERER [ JL687 |7 400 | 7
7 400 7
7 .100 7
7 .500 76!
7 .100 7
7 900 7 P
B 7 500 | Tan &
7 .100 7 %
7 .500 76!
7 .000 75% | A:11.200, £:11,900, £:11.700, H:13.400
7 .000 75% |$:11.900, 1:11.300, .400
7 100 73 #:12.500, 1:11.000, H:13.500
FRB) BERE | AR(RER 7 500 | 7% | E:11.600
7 000 74 000, 1:14.100
7 .800 72 1:14.100, H:12.000
7 .000 76!
7 .000 76%
7 .000 76%
7 .900 76%
7 .000 76%
BEREH L 7 .000 76% [ .800
Lf 7 .000 76% 000, 1:12.800
Lf 7 .000 76% t:11.700
Lf 7 .000 76% :11.700
Lf 7 900 74% 12,800, 1:11.500
| JL650 | 7 400 73% 13.300.
| JL652 |7 400 13%
L654 | 7 400 75%
EEEETETTS WERE [ JL2e0i |7 400 | 674
| JL2903 | 7 400 67%
| JL2905 | 7 .900 68%
| JL2907 | 7 .000 68%
JL2909 | 7! .900 68%
#L0% (%) $4_JL2900 | 7 .900 68%
| JL2902 | 7 .200 67% [
| JL2904 | 7 .500 69% |&: .
| JL2906 | 7 .300 67% |£:13.200, 1:10.800,
JL2910 | 7! .300 67% |£:13.200, 1:10.800,

JAL



TS5 RBEER(BA21~25ABES)

EEEME . 2016/09/16
3/21-25
4 s
=R B4 | mam — TS ER
® | &mm |50
" | mzix
TR IE-EE | RRRER | J 700 | 7o% [
100 69% |&:
.000 P&
.000 P&
.000 P&
.000 P&
ERR 000 %
.000 A:12.400, 13.100
.000 400, £:12.900, 1:12.700
.300 1
.300 1
.000 70%
TR B RR | B CHED % L 1.200 | 74%
700 1%
.700 66%
7 700 69%
7 700 69%
7 .000 12%
7 .000 70%
7 .000 70%
AR 7 700 | 71%
7 .000 70%
7 .000 12%
7 .000 75%
7 .000 75%
7 .500 1%
7 .000 70%
Lf 7 .500 7
TR BB | RERER | _JL687 |7 700 | 7
7 700 7
7 700 7
7 .500 76!
7 700 1%
7 .900 70%
B 7 800 | 68%
7 700 1%
7 .000 75%
7 .000 12%
7 .000 12%
7 .500 69%
FRE) BERE | AR(RER 7 000 | 764
7 .500 13%
7 .800 70%
7 .200 76%
1 .200 76%
7 .000 76%
7 .000 76%
7 .000 76%
BERBR L 7 700 |__75%
L 1 .100 75%
Lf 7 .000 74
Lf 7 .000 74
Lf 7 .800 1
[uLes0 [ 7 300 | 7
U652 [7 400 | 7
L654 | 7 400 1 :13.
EEEETETTS WER [ JL2s0i |7 400 | 6 11,200 :10.
| JL2903 | 7 400 67 :11.200. 1:10.800
| JL2905 | 7 .900 68% 1:11.700
| JL2907 | 7 .000 68% 400, 1:11.200
JL2909 | 7! .900 68% 700, 1:10.300
FL9 (5 F &) 34_JL2900 | 7 900 | 68% 700, F:10.300
| JL2902 | 7 .200 67% [ .200
| JL2904 | 7 .500 69% |£:11.900, +:11.700
| JL2906 | 7 .300 67% |£:13.200, +:10.800
JL2910 | 7! .300 67% |£:13.200, +:10.800

JAL



EEEAR

2016/09/16

LS EFIEER (BA17~20B1EFES)

=40]

FH
BAH
R

3/17

3/18 3/19

3/20

DILESER

DILESER| VSRS

DIVESER

ERE

ERE

R CRE) =K%

R CRE) %

.100

.800

.800

.000

.000

.000

EY

.900

.900

.800

.800

.000

.000

R CRE)=Ri&

RRCRE) | JL

.800

.800

.200

.200

.200

000
800
800
900
.600

.600

000

R

R CRIE)=#EX

RRCAE)F [ J

AR

R CRIE) =58

TR IR % L

RRCPEB)=ERS

RRECPE)#

ERBR

AR GRFR)=lE

L2901

L2903

L2905

L2907

L2909

FLIR B F %) 3

L2900

L2902

L2904

L2906

L2910

S| s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s s

JAL



